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Test Series: September, 2022 

MOCK TEST PAPER 1 

FINAL COURSE: GROUP – I  

PAPER – 1: FINANCIAL REPORTING 

ANSWERS 

1. (1) Ind AS 103 defines business as an integrated set of activities and assets that is capable of  

being conducted and managed for the purpose of providing goods or services to customers, 

generating investment income (such as dividends or interest) or generating other income from 

ordinary activities.  

For a transaction to meet the definition of a business combination (and for the acquisition method 

of accounting to apply), the entity must gain control of business that is more than a collection of 

assets or a combination of assets and liabilities. 

To be capable of being conducted and managed for the purpose identified in the definition of a 

business, an integrated set of activities and assets requires two essential elements—inputs and 

processes applied to those inputs. 

Therefore, an integrated set of activities and assets must include, at a minimum, an inp ut and a 

substantive process that together significantly contribute to the ability to create output.  

In the aforesaid transaction, Company X acquired share of participating rights owned by 

Company Z for the producing Block (AWM/01).  The output exist in th is transaction (Considering 

AWM/01) is a producing block.  Also all the manpower and requisite facilities / machineries are 

owned by Joint venture and thereby all the Joint Operators.  Hence, acquiring participating rights 

tantamount to acquire inputs (Expertise Manpower & Machinery) and it is critical to the ability to 

continue producing outputs.  Thus, the said acquisition will fall under ‘Business Acquisition’ and 

hence standard Ind AS 103 is to be applied for the same. 

(2) As per paragraph 8 of Ind AS 103, acquisition date is the date on which the acquirer obtains 

control of the acquiree.  Further, paragraph 9 of Ind AS 103 clarifies that the date on which the 

acquirer obtains control of the acquiree is generally the date on which the acquirer legally 

transfers the consideration, acquires the assets and assumes the liabilities of the acquiree —the 

closing date.  However, the acquirer might obtain control on a date that is either earlier or later 

than the closing date.   

An acquirer shall consider all pertinent facts and circumstances in identifying the acquisition date.  

Since Government of India (GOI) approval is a substantive approval for Company X to acquire 

control of Company Z’s operations, the date of acquisition cannot be earlier than the date on 

which approval is obtained from GOI.  This is pertinent given that the approval from GOI is 

considered to be a substantive process and accordingly, the acquisition is considered to be 

completed only on receipt of such approval.  Hence, acquisition date in the above scenario is 

30.6.20X1. 

(3)     Journal entry for acquisition 

Particulars  
Amount 

(`) 
Amount 

(`) 

Property Plant & Equipment (W.N.1) Dr. 1,66,650  

Right-of-use Asset  Dr. 6,666  

Development CWIP (W.N.2) Dr. 66,660  

Financial Assets - Loan Receivables Dr. 16,665  

Inventories Dr. 9,999  
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Trade Receivables Dr. 33,330  

Other Current Assets Dr. 16,665  

 To Provisions   66,660 

 To Other Liabilities   33,330 

 To Trade Payables   66,660 

 To Deferred Tax Liability (W.N.4)   29,997 

 To Cash & Cash Equivalent (purchase  
  consideration)   1,00,000 

 To Gain on bargain purchase (Other  
  Comprehensive Income) (W.N.3) (Bal. fig.)   19,988 

(Being assets acquired and liabilities assumed from Company Z recorded at fair value 
along gain on bargain purchase) 

(4)      Balance Sheet of Company X as at 30.6.20X1 

(Pre & Post Acquisition of PI rights pertaining to Company Z)  

Particulars 
Pre-Acquisition Adjustments Post-Acquisition 

30.6.20X1 33.33% Share 30.6.20X1 

Assets    
Non-Current Assets    
Property Plant & Equipment 10,00,000 1,66,650 11,66,650 

Right of Use Asset 2,00,000 6,666 2,06,666 

Development CWIP 1,00,000 66,660 1,66,660 

Financial Assets    
   Loan receivable     50,000    16,665     66,665 

Total Non-Current Assets 13,50,000 2,56,641 16,06,641 

Current assets    
Inventories 2,00,000 9,999 2,09,999 

Financial Assets    
   Trade receivables 3,00,000 33,330 3,33,330 

   Cash and cash equivalents 4,00,000 (1,00,000) 3,00,000 

Other Current Assets     50,000      16,665      66,665 

Total Current Assets  9,50,000    (40,006)   9,09,994 

Total Assets 23,00,000   2,16,635 25,16,635 

Equity and Liabilities    
Equity    
Equity share capital 3,00,000  3,00,000 

Other equity 3,00,000  3,00,000 

Capital Reserve (OCI)   19,988    19,988 

Total Equity 6,00,000 19,988 6,19,988 
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Liabilities    

Non-Current Liabilities    

Provisions 8,00,000 66,660 8,66,660 

Other Liabilities 3,00,000 33,330 3,33,330 

Deferred Tax Liability      29,997     29,997 

Total Non-Current Liabilities 11,00,000 1,29,987 12,29,987 

Current Liabilities    

Financial liabilities    

   Trade Payables   6,00,000    66,660   6,66,660 

Total Current Liabilities   6,00,000    66,660   6,66,660 

Total Equity and Liabilities 23,00,000 2,16,635 25,16,635 

(5) As per Ind AS 103, in case an entity acquires another entity step by step through series of 

purchase then the acquisition date will be the date on which the acquirer obtains control.  Till the 

time the control is obtained the investment will be accounted as per the requiremen ts of other  

Ind AS 109, if the investments are covered under that standard or as per Ind AS 28, if the 

investments are in Associates or Joint Ventures.  

 If a business combination is achieved in stages, the acquirer shall remeasure its previously held 

equity interest in the acquiree at its acquisition-date fair value and recognise the resulting gain or 

loss, if any, in profit or loss or other comprehensive income, as appropriate.   

 Since in the above transaction, company X does not hold any prior interest  in Company Z and 

company holds only 30% PI rights in Block AWM/01 through unincorporated joint venture, this is 

not a case of step acquisition. 

Working Notes: 

1. Fair Value of Property, plant and equipment 

Fair Value of PPE in Company Z Books ` 5,00,000  

33.33% Share acquired by Company X ` 1,66,650  

2. Fair Value of Development CWIP: 

Fair Value of PPE in Company Z Books ` 2,00,000  

33.33% Share acquired by Company X ` 66,660  

3. Computation Goodwill/Bargain Purchase Gain 

Particulars As at 30.6.20X1 (`) 

Total Non - Current Assets 2,56,641 

Total Current Assets (Except Cash & Cash Equivalent of  

` 66,660) (1,26,654 – 66,660) 
59,994 

Total Non-Current Liabilities (99,990) 

Total Current Liabilities (66,660) 

Total Deferred Tax Liability (Refer Working note 3)    (29,997) 
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Net Assets acquired 1,19,988 

Less: Consideration Paid (1,00,000) 

Gain on Bargain Purchase* (To be transferred to OCI)      19,988 

*In extremely rare circumstances, an acquirer will make a bargain purchase in a business 

combination in which the value of net assets acquired in a business combination exceeds the 

purchase consideration.  The acquirer shall recognise the resulting gain in  other comprehensive 

income on the acquisition date and accumulate the same in equity as capital reserve, if the 

reason for bargain purchase gain is clear and evidence exist.  If there does not exist clear 

evidence of the underlying reasons for classifying the business combination as a bargain 

purchase, then the gain shall be recognised directly in equity as capital reserve.  Since in above 

scenario it is clearly evident that due to liquidity issues, Company Z has to withdraw their 

participating right from AWM/01.  The said bargain purchase gain should be transferred to other 

comprehensive income on the acquisition date. 

4. Computation of Deferred Tax Liability arising on Business Combination 

Particulars 
Acquisition 

Date Value (`) 

Total Non - Current Assets 2,56,641  

Total Current Assets (Except Cash & Cash Equivalent of ` 66,660) 59,994  

Total Non-Current Liabilities (99,990)  

Total Current Liabilities (66,660)  

Net Assets Acquired at Fair Value 1,49,985  

Book value of Net Assets Acquired   49,995 

Temporary Difference   99,990 

DTL @ 30% on Temporary Difference 29,997 

2. (a) As per the principles of Ind AS 20 “Accounting for Government Grants and Disclosure of 

Government Assistance”, the benefits of a government loan at a below market rate of interest is 

treated as a government grant.  The loan shall be recognized and measured  in accordance with 

Ind AS 109 “Financial Instruments”.  The benefit of the below market rate of interest shall be 

measured as the difference between the initial carrying value of the loan determined in 

accordance with Ind AS 109 and the proceeds received.  The benefit is accounted for in 

accordance with Ind AS 20.  As per Ind AS 109, the loan should be initially measured at its fair 

value.   

 Initial recognition of grant as on 1st April, 20X1 

Fair value of loan = ` 25,00,000 x 0.567 (PVF @ 12%, 5 th year) = ` 14,17,500 

 A Limited will recognize ` 10,82,500 (25,00,000 – 14,17,500) as the government grant and will 

make the following entry on receipt of loan: 

Date Particulars Dr. (`) Cr. (`) 

1.4.20X1 Bank account    Dr. 25,00,000  

  To Deferred Grant Income  10,82,500 

  To Loan account  14,17,500 

 (Being grant initially recorded at fair value)   
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 Accounting treatment for year ending 31st March, 20X2 

 As per para 3 of Ind AS 20, grants related to assets are government grants whose primary 

condition is that an entity qualifying for them should purchase, construct or otherwise acquire 

long-term assets. 

 As per para 24-27 of Ind AS 20, Government grants related to assets, including non-monetary 

grants at fair value, shall be presented in the balance sheet either by setting up the grant as 

deferred income or by deducting the grant in arriving at the carrying amount of the asset.  

 One method recognises the grant as deferred income that is recognised in profit or loss on a 

systematic basis over the useful life of the asset. 

 The other method deducts the grant in calculating the carrying amount of the asset.  The grant is 

recognised in profit or loss over the life of a depreciable asset as a reduced depreciation 

expense. 

 A Ltd. has adopted first method of recognising the grant as deferred income that is recognised in 

profit or loss on a systematic basis over the useful life of the asset.  Here, deferred income is 

recognised in profit or loss in the proportion in which depreciation expense on the asset is 

recognised. 

 Depreciation for the year (20X1-20X2) = ` 50,00,000 / 5 years = ` 10,00,000 

 As the loan is to finance a depreciable asset, ` 10,82,500 will be recognized in Profit or Loss on 

the same basis as depreciation. 

 Since the depreciation is provided on straight line basis by A Limited, it will credit ` 2,16,500 

(10,82,500 / 5) equally to its statement of profit and loss over the 5 years.  

Journal Entries 

Date Particulars Dr. (`) Cr. (`) 

31.3.20X2 Depreciation (Profit or Loss A/c)  Dr. 10,00,000  

  To Property, Plant & Equipment  10,00,000 

 (Being depreciation provided for the year)   

 Deferred grant income    Dr. 2,16,500  

  To Profit or Loss   2,16,500 

 (Being deferred income adjusted)   

 Impact on profit or loss due to revocation of government grant as on 31st March 20X3 

 As per para 32 of Ind AS 20, a government grant that becomes repayable shall be accounted for 

as a change in accounting estimate.  Repayment of a grant related to income shall be applied 

first against any unamortised deferred credit recognised in respect of the grant.  To the extent 

that the repayment exceeds any such deferred credit, or when no deferred credit exists, the 

repayment shall be recognised immediately in profit or loss.  

 Amount payable to Government on account of principal loan  =  ` 25,00,000  

 Amount payable to Government on account of penalty   =  ` 10,00,000  
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Journal Entries 

Date Particulars Dr. (`) Cr. (`) 

31.3.20X3 Deferred grant income    Dr. 2,16,500  

  To Profit or Loss   2,16,500 

 (Being deferred income adjusted)   
 

Loan account (W.N.1)   Dr. 17,78,112  

 Deferred grant income (W.N.2)  Dr. 6,49,500  

 Profit or Loss     Dr. 72,388  

  To Government grant payable  25,00,000 

 (Being refund of government grant)   

 Profit or Loss     Dr. 10,00,000  

  To Government grant payable  10,00,000 

 (Being penalty payable to government)   

 Therefore, total impact on profit or loss on account of revocation of government grant as on  

31st March, 20X3 will be ` 10,72,388 (10,00,000 + 72,388). 

 Circumstances giving rise to repayment of a grant related to an asset may require consideration 

to be given to the possible impairment of the new carrying amount of the asset.  

 Working Notes: 

1. Amortisation Schedule of Loan 

Year Opening balance of Loan Interest @ 12% Closing balance of Loan 

31.03.20X2 14,17,500 1,70,100 15,87,600 

31.03.20X3 15,87,600 1,90,512 17,78,112 

2. Deferred Grant Income  

Year Opening balance Adjustment Closing balance 

31.03.20X2 10,82,500 2,16,500 8,66,000 

31.03.20X3 8,66,000 2,16,500 6,49,500 

(b)   Statement of Cash Flows from Operating Activities (Direct Method) 

of Galaxy Ltd. for the year ended 31 March 20X2  

Particulars ` ` 

Operating Activities:   

Cash received from Trade receivables (W.N. 3)  85,33,000 

Less: Cash paid to Suppliers (W.N.2) 55,75,000  

         Payment for Administration and Selling expenses 15,40,000  

          Payment for Income Tax (W.N.4) 1,12,000 (72,27,000) 

  13,06,000 
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Adjustment for exceptional items (fire insurance claim)  1,10,000 

Net cash generated from operating activities  14,16,000 

 Working Notes: 

1. Calculation of total purchases 

 Cost of Sales = Opening stock + Purchases – Closing Stock 

 ` 56,00,000 = ` 1,65,000 + Purchases – ` 1,20,000 

 Purchases = ` 55,55,000 

2. Calculation of cash paid to Suppliers 

Trade Payables 

  `   ` 

To Bank A/c (balancing figure) 55,75,000 By Balance b/d 2,15,000 

To Balance c/d  1,95,000 By Purchases (W.N. 1) 55,55,000 

  57,70,000   57,70,000 

3. Calculation of cash received from Customers 

Trade Receivables 

  `   ` 

To Balance b/d 1,88,000 By Bank A/c (balancing figure)  85,33,000 

To Sales 85,50,000 By Balance c/d   2,05,000 

  87,38,000   87,38,000 

4. Calculation of tax paid during the year in cash 

Provision for tax 

  `   ` 

To Bank A/c (balancing figure) 1,12,000 By Balance b/d 65,000 

To Balance c/d   48,000 By Profit and Loss A/c   95,000 

  1,60,000   1,60,000 

3. (a) (i) As per para 27 of Ind AS 115, a good or service that is promised to a customer is distinct if 

both of the following criteria are met: 

(a) the customer can benefit from the good or service either on its own or together with 

other resources that are readily available to them.  A readily available resource is a 

good or service that is sold separately (by the enti ty or another entity) or that the 

customer has already obtained from the entity or from other transactions or events; 

and 

(b) the entity’s promise to transfer the good or service to the customer is separately 

identifiable from other promises in the contract. 

 Factors that indicate that two or more promises to transfer goods or services to a 

customer are separately identifiable include, but are not limited to, the following:  
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(a) significant integration services are not provided (i.e. the entity is not using  the goods 

or services as inputs to produce or deliver the combined output called for in the 

contract)  

(b) the goods or services does not significantly modify or customize other promised 

goods or services in the contract.  

(c) the goods or services are not highly inter-dependent or highly interrelated with other 

promised goods or services in the contract 

 Accordingly, on 1st April, 20X1, entity A entered into a single transaction with three 

identifiable separate components:  

1. Sale of a good (i.e. engineering machine);  

2. Rendering of services (i.e. engineering machine maintenance services on  

30th September, 20X1 and 1st April, 20X2); and  

3. Providing finance (i.e. sale of engineering machine and rendering of services on 

extended period credit).  

(ii) Calculation and allocation of revenue to each component of the transaction 

Date  Opening 
balance 

Finance 
income 

Goods Services Payment 
received 

Closing 
balance 

1st April, 20X1 – – 2,51,927 – – 2,51,927 

30th September, 
20X1 

2,51,927 12,596 (Note 1) – 45,000 – 3,09,523 

31st March 20X2 3,09,523 15,477 (Note 2) – – – 3,25,000 

1st April, 20X2 3,25,000 – – 75,000 (4,00,000)  

Notes:  

1. Calculation of finance income as on 30 th September, 20X1  

      = 5% x 2,51,927  = ` 12,596  

2. Calculation of finance income as on 31st March, 20X2  

      = 5% x 3,09,523  = ` 15,477 

(iii)      Journal Entries 

Date Particulars Dr. (`) Cr. (`) 

1st April, 20X1  Mr. Anik       Dr.  2,51,927  

  To Revenue - sale of goods (Profit or 

loss A/c) 

 2,51,927 

 (Being revenue recognised from the sale of 

the machine on credit) 

  

 Cost of goods sold (Profit or loss)  Dr. 1,60,000  

  To Inventories   1,60,000 

 (Being cost of goods sold recognised)    

30th September  Mr. Anik       Dr. 12,596  

20X1  To Finance Income (Profit or loss)  12,596 

 (Being finance income recognised)   

  

© The Institute of Chartered Accountants of India



9 

 Mr. Anik       Dr. 45,000  

  To Revenue- rendering of services 

(Profit or loss) 

 45,000 

 (Being revenue from the rendering of 

maintenance services recognised)  

  

 Cost of services (Profit or loss)  Dr. 30,000  

  To Cash/Bank or payables   30,000 

 (Being the cost of performing maintenance 

services recognised)  

  

31st March  Mr. Anik       Dr. 15,477  

20X2  To Finance Income (Profit or loss)  15,477 

 (Being finance income recognised)   

1st April, 20X2 Mr. Anik       Dr. 75,000  

  To Revenue - rendering of services 

(Profit or loss) 

 75,000 

 (Being revenue from the rendering of 

maintenance services recognised) 

  

 Cost of services (Profit or loss)  Dr. 50,000  

  To Cash/Bank or payables   50,000 

 (Being the cost of performing maintenance 

services recognised) 

  

 Cash/Bank     Dr. 4,00,000  

  To Mr. Anik  4,00,000 

 (Being the receipt of cash from the 

customer recognised) 

  

(iv) Extract of Notes to the financial statements for the year ended 31 st March, 20X2 and 

31st March, 20X3  

 Note on Revenue  

 20X2-20X3 20X1-20X2 

 ` ` 

Sale of goods  –  2,51,927  

Rendering of machine - maintenance services  75,000  45,000  

Finance income          –    28,073 

 75,000  3,25,000 

(b)   

Activity Whether in the 
scope of Ind AS 41? 

Remarks 

Managing animal-related 
recreational activities like Zoo 

No Since the primary purpose is to 
show the animals to public for 
recreational purposes, there is no 
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management of biological 
transformation but simply control of 
the number of animals. Hence it will 
not fall in the purview of agricultural 
activity.  

Fishing in the ocean  No Fishing in ocean is harvesting 
biological assets from unmanaged 
sources.  There is no management 
of biological transformation since 
fish grow naturally in the ocean.  
Hence, it will not fall in the scope of 
the definition of agricultural activity. 

Fish farming  Yes Managing the growth of fish and 
then harvest for sale is agricultural 
activity within the scope of Ind AS 
41 since there is management of 
biological transformation of 
biological assets for sale or 
additional biological assets. 

Development of living 
organisms such as cells, 
bacteria viruses  

Analysis required The development of living 
organisms for research purposes 
does not qualify as agricultural 
activity, as those organisms are not 
being developed for sale, or for 
conversion into agricultural produce 
or into additional biological assets. 
Hence, development of such 
organisms for the said purposes 
does not fall under the scope of Ind 
AS 41.  

However, if the organisms are being 
developed for sale or use in dairy 
products, the activity will be 
considered as agricultural activity 
under the scope of Ind AS 41. 

Growing of plants to be used 
in the production of drugs  

Yes  If an entity grows plants for using it 
in production of drugs, the activity 
will be agricultural activity. Hence it 
will come under the scope of  
Ind AS 41. 

Purchase of 25 dogs for 
security purposes of the 
company’s premises 

No Ind AS 41 is applied to account for 
the biological assets when they 
relate to agricultural activity.  

Guard dogs for security purposes 
do not qualify as agricultural 
activity, since they are not being 
kept for sale, or for conversion into 
agricultural produce or into 
additional biological assets.  Hence, 
they are outside the scope of  
Ind AS 41. 
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4. (a)  Assessment of Preliminary Impact Assessment of Transition to Ind AS on Him Limited’s 

Financial Statements 

 Issue 1: Fair value as deemed cost for property plant and equipment:  

Accounting Standards 
(Erstwhile IGAAP) 

Ind AS Impact on Company’s financial 
statements 

As per AS 10, Property, 
Plant and Equipment is 
recognised at cost less 
depreciation. 

Ind AS 101 allows entity to 
elect to measure Property, 
Plant and Equipment on the 
transition date at its fair 
value or previous GAAP 
carrying value (book value) 
as deemed cost. 

The company has decided to 
adopt fair value as deemed cost 
in this case. Since fair value 
exceeds book value, so the book 
value should be brought up to 
fair value.  The resulting impact 
of fair valuation of land  
` 3,00,000 should be adjusted in 
other equity. 

Journal Entry on the date of transition 

Particulars Debit (`) Credit (`) 

Property Plant and Equipment    Dr. 3,00,000  

To Revaluation Surplus (OCI- Other Equity)  3,00,000 

 Issue 2: Fair valuation of Financial Assets:  

Accounting Standards 
(Erstwhile IGAAP) 

Ind AS Impact on Company’s financial 
statements 

As per Accounting 
Standard, investments 
are measured at lower 
of cost and fair value.  

On transition, financial 
assets including 
investments are 
measured at fair values 
except for investments in 
subsidiaries, associates 
and JVs' which are 
recorded at cost. 

All financial assets (other than 

Investment in subsidiaries, 

associates and JVs’ which are 

recorded at cost) are initially 

recognized at fair value. 

The subsequent measurement of 

such assets are based on its 

categorization either Fair Value 

through Profit & Loss (FVTPL) or 

Fair Value through Other 

Comprehensive Income (FVTOCI) 

or at Amortised Cost based on 

business model assessment and 

contractual cash flow 

characteristics. 

Since investment in mutual fund 

are designated at FVTPL, increase 

of ` 1,00,000 in mutual funds fair 

value would increase the value of 

investments with corresponding 

increase to Retained Earnings. 
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Journal Entry on the date of transition 

Particulars Debit (`) Credit (`) 

Investment in mutual funds   Dr. 1,00,000  

To Retained earnings  1,00,000 

 Issue 3: Borrowings - Processing fees/transaction cost: 

Accounting Standards 
(Erstwhile IGAAP) 

Ind AS Impact on Company’s 
financial statements 

As per AS, such 
expenditure is charged to 
Profit and loss account or 
capitalised as the case 
may be 

As per Ind AS, such 

expenditure is amortised over 

the period of the loan. 

Ind AS 101 states that if it is 

impracticable for an entity to 

apply retrospectively the 

effective interest method in  

Ind AS 109, the fair value of 

the financial asset or the 

financial liability at the date of 

transition to Ind AS shall be 

the new gross carrying amount 

of that financial asset or the 

new amortised cost of that 

financial liability. 

Fair value as on the date of 
transition is ` 1,80,000 as 
against its book value of  
` 2,00,000.  Accordingly, the 
difference of ` 20,000 is 
adjusted through retained 
earnings. 

Journal Entry on the date of transition 

Particulars Debit (`) Credit (`) 

Borrowings / Loan payable      Dr. 20,000  

To Retained earnings  20,000 

 Issue 4: Proposed dividend: 

Accounting Standards 
(Erstwhile IGAAP) 

Ind AS Impact on Company’s financial 
statements 

As per AS, provision for 
proposed divided is made 
in the year when it has 
been declared and 
approved. 

As per Ind AS, liability for 
proposed dividend is 
recognised in the year in 
which it has been 
declared and approved. 

Since dividend should be 
deducted from retained earnings 
during the year when it has been 
declared and approved.  
Therefore, the provision declared 
for preceding year should be 
reversed (to rectify the wrong 
entry). Retained earnings would 
increase proportionately due to 
such adjustment 

Journal Entry on the date of transition 

Particulars Debit (`) Credit (`) 

Provisions        Dr. 30,000  

To Retained earnings  30,000 

© The Institute of Chartered Accountants of India



13 

 Issue 5 : Intangible assets: 

Accounting Standards 
(Erstwhile IGAAP) 

Ind AS Impact on Company’s 
financial statements 

The useful life of an 
intangible asset cannot be 
indefinite under IGAAP 
principles. The Company 
amortised brand / 
trademark on a straight-
line basis over maximum 
of 10 years as per AS 26. 

The useful life of an intangible 
asset like brand/trademark can 
be indefinite. Not required to 
be amortised and only tested 
for impairment. 

Company can avail the 
exemption given in Ind AS 101 
as on the date of transition to 
use the carrying value as per 
previous GAAP. 

Consequently, there would 
be no impact as on the date 
of transition since company 
intends to use the carrying 
amount instead of book 
value at the date of 
transition. 

 Issue 6: Deferred tax 

Accounting Standards 
(Erstwhile IGAAP) 

Ind AS Impact on Company’s 
financial statements 

As per AS, deferred taxes 
are accounted as per 
income statement approach. 

As per Ind AS, deferred 
taxes are accounted as per 
balance sheet approach. 

On date of transition to  
Ind AS, deferred tax liability 
would be increased by  
` 25,000. 

Journal Entry on the date of transition 

Particulars Debit (`) Credit (`) 

Retained earnings       Dr. 25,000  

To Deferred tax liability  25,000 

(b)  Statement showing computation of inventory cost 

Particulars Amount (`) Remarks 

Costs of purchase 5,00,000 Purchase price of raw material [purchase price 

(` 5,50,000) less refundable purchase taxes 

(` 50,000)] 

Loan-raising fee – Included in the measurement of the liability  

Costs of purchase 55,000 Purchase price of consumable stores 

Costs of conversion 65,000 Direct costs—labour 

Production overheads 15,000 Fixed costs—depreciation 

Production overheads 10,000 Product design costs and labour cost for 

specific customer 

Other costs 37,000 Refer working note 

Borrowing costs  - Recognised as an expense in profit or loss  

Total cost of inventories 6,82,000  
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  Working Note: 

 Costs of testing product designed for specific customer:  

` 21,000 material (ie net of the ` 3,000 recovered from the sale of the scrapped output) +  

` 11,000 labour + ` 5,000 depreciation = ` 37,000 

5. (a) 1st April, 20X1 

 A financial guarantee contract is initially recognised at fair value.  The fair value of the 

guarantee will be the present value of the difference between the net contractual cash flows 

required under the loan, and the net contractual cash flows that would have been required 

without the guarantee. 

Particulars Year 1 

(`) 

Year 2 

(`) 

Year 3 

(`) 

Total 

(`) 

Cash flows based on interest rate of 11% (A) 1,10,000 1,10,000 1,10,000 3,30,000 

Cash flows based on interest rate of 8% (B) 80,000 80,000 80,000 2,40,000 

Interest rate differential (A-B) 30,000 30,000 30,000 90,000 

Discount factor @ 11% 0.901 0.812 0.731  

Interest rate differential discounted at 11% 27,030 24,360 21,930 73,320 

Fair value of financial guarantee contract (at 
inception) 

   
 

73,320 

Journal Entry  

Particulars Debit (`) Credit (`) 

Investment in subsidiary   Dr. 73,320  

 To Financial guarantee (liability)  73,320 

(Being financial guarantee initially recorded) 

31st March 20X2 

 Subsequently at the end of the reporting period, financial guarantee is measured at the higher of:  

- the amount of loss allowance; and  

- the amount initially recognised less cumulative amortization, where appropriate.  

 At 31st March 20X2, there is 1% probability that Moon Limited may default on the loan in the next 

12 months.  If Moon Limited defaults on the loan, Sun Limited does not expect to recover any 

amount from Moon Limited.  The 12-month expected credit losses are therefore ` 10,000  

(` 10,00,000 x 1%). 

 The initial amount recognised less amortisation is ` 51,385 (` 73,320 + ` 8,065 (interest accrued 

based on EIR)) – ` 30,000 (benefit of the guarantee in year 1) Refer table below.  The unwound 

amount is recognised as income in the books of Sun Limited, being the benefit derived by  

Moon Limited not defaulting on the loan during the period.  

Year Opening balance EIR @ 11% Benefits provided Closing balance 

 `  ` ` 

1 73,320 8,065 (30,000) 51,385 

2 51,385 5,652 (30,000) 27,037 

3 27,037 2,963* (30,000) - 

 * Difference is due to approximation 
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 The carrying amount of the financial guarantee liability after amortisation is therefore ` 51,385, 

which is higher than the 12-month expected credit losses of ` 10,000.  The liability is therefore 

adjusted to ` 51,385 (the higher of the two amounts) as fol lows: 

Particulars Debit (`) Credit (`) 

Financial guarantee (liability)    Dr. 21,935  

 To Profit or loss  21,935 

(Being financial guarantee subsequently adjusted) 

31st March 20X3 

 At 31st March 20X3, there is 3% probability that Moon Limited will default on the loan in the next 

12 months.  If Moon Limited defaults on the loan, Sun Limited does not expect to recover any 

amount from Moon Limited.  The 12-month expected credit losses are therefore ` 30,000  

(` 10,00,000 x 3%). 

 The initial amount recognised less accumulated amortisation is ` 27,037, which is lower than the 

12-month expected credit losses (` 30,000).  The liability is therefore adjusted to ` 30,000 (the 

higher of the two amounts) as follows: 

Particulars Debit (`) Credit (`) 

Financial guarantee (liability)    Dr. 21,385*  

 To Profit or loss (Note)  21,385 

(Being financial guarantee subsequently adjusted) 

 * The carrying amount at the end of 31st March 20X2 = ` 51,385 less 12-month expected credit 

losses of ` 30,000. 

(b)  

Period Proportion Fair value To be 

vested 

Cumulative 

expenses 

Expenses 

 a b c d= b x c x a e = d-previous period d 

Period 1 1/3 5,00,000 91% 1,51,667 1,51,667 

Period 2 2/3 5,00,000 89% 2,96,667 1,45,000 

Period 3 3/3 5,00,000 82% 4,10,000 1,13,333      
4,10,000 

Journal Entries 

31st March, 20X1 

Employee benefits expenses Dr. 1,51,667 
 

 
To Share based payment reserve (equity)   1,51,667 

(1/3 of expected vested equity instruments value)  
  

31st March, 20X2   

Employee benefits expenses Dr. 1,45,000 
 

 
To Share based payment reserve (equity)  1,45,000 

(2/3 of expected vested equity instruments value) 
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31st March, 20X3   

Employee benefits expenses Dr. 1,13,333 
 

 
To Share based payment reserve (equity)   1,13,333 

(Final vested equity instruments value) 
   

Share based payment reserve (equity) Dr. 4,10,000 
 

 
To Equity Share Capital  

  
4,10,000 

(re-allocated and issued shares) 
   

 (c) (a)  As per paragraph 66(a) of Ind AS 1, an entity shall classify an asset as current when it 

expects to realise the asset, or intends to sell or consume it, in its normal operating cycle.  

 Paragraph 68 provides the guidance that current assets include assets (such as inventories 

and trade receivables) that are sold, consumed or realised as part of the normal operating 

cycle even when they are not expected to be realised within twelve months after the 

reporting period. 

 In accordance with above, the receivables that are considered a part of the normal 

operating cycle will be classified as current asset. 

 If the operating cycle exceeds twelve months, then additional disclosure as required by 

paragraph 61 of Ind AS 1 is required to be given in the notes.  

(b)  As discussed in point (a) above, advances to suppliers for goods and services would be 

classified in accordance with normal operating cycle if it is given in relation to the goods or 

services in which the entity normally deals.  If the advances are considered  a part the 

normal operating cycle, it would be classified as a current asset.  If the operating cycle 

exceeds twelve months, then additional disclosure as required by paragraph 61 of Ind AS 1 

is required to be given in the notes 

(c)  Classification of income tax receivables [other than deferred tax] will be driven by  

paragraph 66(c) of Ind AS 1, i.e., based on the expectation of the entity to realise the asset.  

If the receivable is expected to be realised within twelve months after the reporting period, 

then it will be classified as current asset else non-current asset.  

(d)  Para 8 of Ind AS 16 states that items such as spare parts, stand-by equipment and servicing 

equipment are recognised in accordance with this Ind AS when they meet the definition of 

property, plant and equipment.  Otherwise, such items are classified as inventory.  

 Accordingly, the insurance spares that are treated as an item of property, plant and 

equipment would normally be classified as non-current asset whereas insurance spares that 

are treated as inventory will be classified as current asset if the entity expects to consume it 

in its normal operating cycle.  

6. (a) (i)      Super Sounds Limited 

  Balance Sheet (Extract relating to intangible asset) as at 31 st March 20X2 

 Note No. ` 

Assets   

(1) Non- current asset   

  Intangible assets 1 69,45,000 
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(ii)     Super Sounds Limited  

Statement of Profit and Loss (Extract) 

for the year ended 31st March 20X2 

 Note No. ` 

Revenue from Operations  10,00,000 

Total Revenue    

Expenses:   

Amortization expenses 2 16,25,000 

Other expenses 3  7,20,000 

Total Expenses    

Notes to Accounts (Extract) 

1.  Intangible Assets 

  Gross Block (Cost) Accumulated amortisation Net block 

  Opening 
balance 

Additions Closing 
Balance 

Opening 
balance 

Additions Closing 
Balance 

Opening 
balance 

Closing 
Balance  

  ` ` ` ` ` ` ` ` 

1. Goodwill* 
(W.N.1)  

- 3,20,000 3,20,000 - - - - 3,20,000 

2. Franchise** 
(W.N.2) 

- 80,00,000 80,00,000 - 16,00,000 16,00,000 - 64,00,000 

3. Copyright 
(W.N.3) 

 
       - 

 
2,50,000 

 
  2,50,000 

 
       - 

 
    25,000 

 
    25,000 

 
       - 

 
 2,25,000 

         - 85,70,000 85,70,000        - 16,25,000 16,25,000        - 69,45,000 

 *As per Ind AS 36, irrespective of whether there is any indication of impairment, an entity 

shall test goodwill acquired in a business combination for impairment annually.  This implies 

that goodwill is not amortised annually but is subject to annual impai rment, if any. 

 **As per the information in the question, the limiting factor in the contract for the use is time 

i.e., 5 years and not the fixed total amount of revenue to be generated.  Therefore, an 

amortisation method that is based on the revenue generated by an activity that includes the 

use of an intangible asset is inappropriate and amortisation based on time can only be 

applied. 

2. Amortization expenses    

    Franchise (W.N.2) 16,00,000  

    Copyright (W.N.3)     25,000 16,25,000 

3. Other expenses   

 Legal cost on copyright 7,00,000  

 Fee for Franchise (10,00,000 x 2%)    20,000 7,20,000 

 Working Notes: 

  ` 

(1) Goodwill on acquisition of business  

 Cash paid for acquiring the business  13,20,000 

 Less: Fair value of net assets acquired (10,00,000) 

 Goodwill     3,20,000 
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(2) Franchise 80,00,000 

 Less: Amortisation (over 5 years) (16,00,000) 

 Balance to be shown in the balance sheet   64,00,000 

(3) Copyright 2,50,000 

 Less: Amortisation (over 10 years as per SLM)      (25,000) 

 Balance to be shown in the balance sheet    2,25,000 

(b) As per para 27 (b) of Ind AS 116, variable lease payments that depend on an index or a rate, are 

initially measured using the index or rate as at the commencement date.  

 At the beginning of the third year, Lessee remeasures the lease liability at the present value of 

eight payments of ` 60,200 discounted at an original discount rate of 9.5% per annum as per 

para 43 of Ind AS 116. 

Year Revised lease rental Discount factor @ 9.5% Present value  

3 [(56,000 / 280) x 301] = 60,200 0.913 54,963 

4 60,200 0.834 50,207 

5 60,200 0.762 45,872 

6 60,200 0.696 41,899 

7 60,200 0.635 38,277 

8 60,200 0.580 34,916 

9 60,200 0.530 31,906 

10 60,200 0.484 29,137 

   3,27,127 

 Table showing amortised cost of lease liability 

Year Opening balance Interest @ 9.5% Rental paid Closing balance 

1 3,51,613 33,403 56,000 3,29,016 

2 3,29,016 31,257 56,000 3,04,273 

 Difference of ` 22,854 (3,27,127 – 3,04,273) will increase the lease liability with corresponding 

increase in ROU Asset as per para 39 of Ind AS 116.  

Journal entry at the beginning of year 3 would be: 

Right-of-use asset    Dr.  ` 22,854 

    To Lease liability       ` 22,854 

(c)        Either 

 The examples of the items that an entity may need to recognise, derecognise, remeasure, 

reclassify on the date of transition are as under: 

(a)  recognise all assets and liabilities whose recognition is required by Ind AS:  

(i) customer related intangible assets if an entity elects to restate business 

combinations  

(ii)  share-based payment transactions with non-employees  

(b)  reclassify items that it recognised in accordance with previous GAAP as one type of 

asset, liability or component of equity, but is a different type of asset, liability or 

component of equity in accordance with Ind AS:  
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(i)  redeemable preference shares that would have earlier been classified as equity;  

(ii)  non-controlling interests which would have been earlier classified outside equity; and  

(c)  apply Ind ASs in measuring all recognised assets and liabilities:  

(i)  discounting of long-term provisions  

(ii)  measurement of deferred income taxes for all temporary differences instead of timing 

differences. 

OR 

 Rights issue bonus fraction 

      Shares  ` per share   ` 

 Cum-rights   5    1     5.0 

 Rights    1    0.9     0.9 

 Ex-rights    6        5.9 

 Theoretical ex-rights price         (5.9 / 6)     =  0.983 

 Bonus fraction = Cum-rights price / Theoretical ex-rights price 

                              = 1/0.983 

           Number of shares 

1 January - 31 March (10,00,000 × 3/12 × 1/0.983) 2,54,323 

1 April - 31 December (12,00,000 × 9/12)   9,00,000 

 Number of shares for the purpose of EPS calculation 11,54,323 
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